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SN E2HE
BSOS SHUNS(YVTTHE /AHE)
ool =0istg HEED (S :®2)
S E O (EH) - MBAIY - B Of o S Hl R =2
Ol &
301 LEtEAZ 221,280 216,850 4,430
05 S-cl-tEEs2Eas 221,280 216,850 4,430
Oseld=¢ 200,080
-2+ 200,000 «61F x123 146,400
-&0= 200,000 *61H »23| 24,400
-3|olg 20,0003 x61H 23| 123 29,280
OogtdEsg 25,0003 4249 x23| 21,200
ANE2s8 29 207,934 208,658 AT24
101 14| 17,252 17,926 AB74
04 JI2ZtMZ22XSE+ 17,252 17,926 AN674
OSHA 22X 012 35,2008 +12x2202 7,764
O=XSsUE HA o2
35,2903 19 220 7,764
O4AEE J|H22E3 15,528,000 *11. 1% 1,724
201 ety 163,544 166, 144 A2,600
01 AbR22lH| 123,452 126,052 A2,600
O1.get=ZH| 31,272
-=SXZstdlH eS| 500,000& x12& 6,000
A2 A2 det=ZH| 100,000& x12& 1,200
-Fo1ZH 2922 250,000& = 12& 3,000
-djotMate| (s 2 250,000& = 12& 3,000
=83 A =2 300,000 300
-S2JIE3E =2 200,000& x12& 2,400
—AYUEHUHA =2 500,000& *13] 500
-=SXNZSHHH HtY 2 AR
1,500,000 13| 1,500
-St&EX 2 40,0003 x4t A x12E 1,920
HAEE Y FEFLEES Y
300,000& = 12& 3,600
-MYDISSH SSE7(1004)
2,2003 8001 12& 2,112
~HD|2t S (F 2K, F2hA L, L2HR S) 2L
13,000& 565+ 12& 780
2N oY EEE M 4,960
BE 150& +5,000F *4 2| 3,000
T 70,0003 x70 43| 1,960
0O3.28=¢ 89,660
-2UBr2AALZ 35,0003 2 A 2t+351k S *36F 88,200
-SgAAME 1,460
Jl2ZAZ2 200,000& 1H x1A| 2+%23] 400
TEMEAR 80,0003 *»1H x 1Al 2+%23] 160
* Ol 150,000 *1H 23| 300




2N EHE
M SOiS SEUTSY(LUTIUT/ABHT)
CHol: FO0IEHE HHED (ol &2
SN -EHH . (B) - MPAY - BE2 0 Ak o4 e HRE2
#dN= 15,000& 200K *22] 600
O5.22H| 2,520
~SNRHMEHSY 0IA22T B4
7,000 x2B «152 x 128 2,520
02 2323l 40,092 40,002 0
O1.2223LAA 29,900
-&@I123 2,000,002 * 128 24,000
A2 M2 SHHY 23 50,000 <128 600
=23 400,000& 128 4,800
==l PO e == 100, 000& 23| 200
-IPTV dEXHESY AES 25,0003 123 300
O2. o2 2,751,0002 2,751
O3. A& ZHI= Xt 7,441
arab=—2-ONN:] 2,541,000& 2,541
= A=a= I RS IN L] 3,900,000& 3,900
-SS A4 =X 1,000,000& 1,000
206 M= dl 3,000 3,000 0
01 M=l 3,000 3,000 0
OREM2 7Y 3,000,0002 3,000
207 AN 400 350 50
02 AN Y| 400 350 50
OZ ADB #=H| 800& 500 400
301 YBE A 6,238 6,238 0
09 ZUZRRALLH=S 3,214 3,214 0
OsUA2ZRRE 3,214
SIEE 88,0002 +12§x122 1,056
Sy 5,0002 12§ x222 122 1,320
- S| 2,000 x1H*222x 123 528
-1l =4l 140,000& *1H »23] 280
—cos gaE 15,0002 12 x22! 30
10 BAHAH 243 3,024 3,024 0
RIS AT SAHI (SX2SHE H2C AR
7,000 «2H «18L x 128 3,024
401 Al&HI LR OHYI 12,000 8,000 4,000
01 Al&HI 12,000 8,000 4,000
OEHBH=NSSHE SAHA A2
2,000, 000& 14 2,000
OSHZS=NSHE FAE LHBL2A
10,000,000& =14 10,000
405 XtobE SHI 5,500 7,000 A 1,500
01 T =S H SHI 500 2,000 A 1,500
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SN EHS
M S0iS SEUTLY(LVTIHI/AeHT)

SRl e MBEY X4 (Sl &)
= o MuE o
FAH-FH-SASA) - NRAE - BE=Z Ol &+ 9K Ol AF o8 Hws2

THLMRAUR| A0 DESHIA ADE 7Y
100,00021 %122 1,200
O6.2xE 9,100
THUMSAR L oI BARH FUl
7t 350,0002 *20H *32 2,100
THOHCHEI IRl ZHl &t
350, 0002 »2CH + 102 7,000
02 IZ2Y| 6,000 6,000 0
01.2322Y 6,000
A = o ®IQ3
200,0002 128 2,400
—Gag 2 N -1
100,000 %122 1,200
~EAIE 3 A ®IIQ3
10,0002 122 1,200
~EEAE B M £5R3
100,0002! 122 1,200
5SS NAWB AL (2E He /XIS LAl 211,080 211,080 0
NEESEEPNE= 211,080 211,080 0
N 60,000 60,000 0
401 Al&HIL 20| 60,000 60,000 0
01 Al&H] 60,000 60,000 0
OATD ZQIMEBHOIAY 60,000,000 14! 60,000
A D XIS ARSI 151,080 151,080 0
401 AlAHIL 20| 151,080 151,080 0
01 Al&H] 150,000 150,000 0
O ca22l OIS UL TEBA
20,000, 0002 * 141 20,000
OEof Ywmoe| OISt S XIBA
20,000, 00021 *14! 20,000
Ot 1zl ot IARERA
20,000, 00021 * 14! 20,000
OF422 GI4S&XBA 10,000,008 14! 10,000
Ox=2| 22X SREHIBA
10,000,0002! 14! 10,000
OIS A& U E£BA 70,000,000 14! 70,000
03 Al&=CH| 1,080 1,080 0
OAFDRHASIHL AR AL =2 CHY|
150,000, 0002 %0.72/100 1,080
HH2SAALI(ZHS)OIEH/IIE) 492,887 463,562 29,325
ol 2ol (25S) 58,739 57,779 960
e REET 58,739 57,779 960
101 2124t 58,739 57,779 960




SN EHS
NS AAH(SHE)OIEHIIE)
Sl QS AH (SHS) EEREE)
RA B SA(BH) - NRAY - B 01 e HRE2
03 RIIHA2ERE 4 58,739 57,779 960
O M2 2R 20,885
=123 33,0302 124+3132 10,339
-4012 10,339,000 12 +1/125300% 2,585
“HEEII 10,339, 0002 %1% %1/125120% 1,034
- oAl 80,0002 * 1% * 128 960
SnECES] 30,0002 12«12 360
AR R ALY 6,2008 %1 *22AI 244128 1,637
-FE4 33,0302 #12 %522 1,718
—2EtAE 33,0302 124 +52 + 128 x50% 991
IS CES] 50,0002 124 <128 600
—oi R4 g 33,0302 124202 661
OSX2HME 22l 37,854
=123 29,0108 +224%3132 18,161
4012 9,081,000 *2 1/ 12+300% 4,541
eS| 9,081,000 x2 1/ 12+ 120% 1,817
~H oAl 80,0002 +22 122 1,920
-DS2EH| 30,0008 x22 12 720
IR 80,0002 *2% * 128 1,920
SN RAE 5,440 x2% <2241 2H+ 128 2,873
-FE+Y 29,0108 +22 522 3.018
~2EILAS 29,0108 +22 x2 2+ 12 *50% 697
IS ES] 50,0009 *2% * 128 1,200
—oi g 29,0108 x22 17 987
EEEIELE) 434,148 405,783 28,365
ST 258, 148 247,603 10,545
201 ere eyl 258, 148 247,603 10,545
01 AtR22lt] 48,250 48,050 200
O1. Lut4gH| 27,000
-RA2Y s 27,000,000% 27,000
032944 8.850
LR 50,0002 «( 116+61) 2! 8.850
Os5. 22| 8.800
22y Sl 8,800,000%! 8,800
O6. %2 3,600
-#EeY B YNE 3,600,000% 3,600
02 232 Y| 209,898 199,553 10,345
O1.2ZRI3LHAl 178,800
Pl 18,645, 0002 18,645
458 2,070,000%! 2,070
-2otses 141,900, 0002 141,900
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SN
X XH .
S Tt

el

HS)(IIEH/IIEH)
)

S BB SR (B) - NEAY - BAS 0f & o Soe DB
-ENES RER 11,475,000 11,475
-IPVEEISY MEE 25,000 x12& 300
“dojerd e e E 200,000& 12 2,400
SN RE =S 500
2= 150, 000& 23] 300
ek 100,000& 23! 200
-EHAS S 1,510
SE(HE) 810,000& = 1CH 810
3=(2¥) 700,000 = 1CH 700
O2.¢ =4 9,952,000& 9,952
O3. A& ZHIF XY 13,590
-2etsS KXl 5,000& %1,2705 6,350
-d == Al 5,740,000& 5,740
= a=a= W YN s | 1,500,000 1,500
O4. Xt et 7,556
-52(2E) 4,218,000 = 1CH 4,218
-2 (ad) 3,338,000& = 1CH 3,338
PR =204H| 124,800 137,280 A12,480
202 O 124,800 137,280 A 12,480
02 XN 124,800 137,280 212,480
OF M 260,000 »40E 122 124,800
=EESSE] 14,700 14,700 0
203 LR =& 14,700 14,700 0
01 V223 g RFabl 7,900 7,900 0
OJja=zdgd2x=atl 7,900,000& 7,900
02 HBIMHRFAH 1,760 1,760 0
OFJ AR FHI 40,0003 »44&H 1,760
04 FEA2SERFAHI 5,040 5,040 0
ORN2ELRFIHI(HRA 49) 5,040
-Jl2 350,000& x12& 4,200
-0t 5,000& 142128 840
At & E2FF S 36,500 6,200 30,300
405 XtotE SHI 36,500 6,200 30,300
01 MM =SFSHI 36,500 6,200 30,300
OXAdE W HX=AD| 2
4,000,000 *1CH 4,000
O=22xg uld 2 28,000,000 = 1CH 28,000
OMERE 2Tt 2Y 200,000& =104 2,000
028 o4 423 78 2,500,000 +1CH 2,500
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Mr=r=
e 0d e

ot
M SHHNSH(UNTDHET/LUHT)
set BT

_ _ _ SN E N
N Z3 . CA(ZAH) - MPAY - BES AF oK oﬁ/ﬁiﬁ Hlns2t
1923 29 27,655 25,240 2,415
101 Q124 9,803 9,538 265
04 JIZR22XSES 9,803 9,538 265
OXN2ST A2 228 35,2002 *1H*250L 8,823
O4U s 2z 8,823,000 *11.1% 980
201 Loty 9,992 9,392 600
01 AFR22/Hl 3,512 3,512 0
O1.det=SH|(2XHEH, H2E M) 3,512
L =] 100,000« 12& 1,200
-ROIZHl E9442 176,000 « 128 2,112
-HEE A 200,000 13 200
02 B2l 6,480 5,880 600
O1. 2222 HAl 3,200
= 20,0004 x 12 240
aplier= 200,000« 12& 2,400
—ESHMWNRE S 100,0002 *23] 200
-HEe2 30,000 128 360
O2.924l 1,402
-u2 1,402,000 1,402
O3. A& X HI S XYl 1,878
-AERNHI(1987HE 2232/ EX)
1,878,000 1,878
207 I LY 400 350 50
02 & AR 400 350 50
OZ AMBR=H| 800 *5002 400
301 LR A 960 960 0
10 SALAHI B A 960 960 0
OXFE S AR 2FAIHI 2,000 «2% %20 122 960
405 KHoHESHI 6,500 5,000 1,500
01 ML SEFHSH 1,500 0 1,500
ONSCTNZ THHEE Y 500,000 «2CH 1,000
OX2EA2 W& 7 500,000+ 1CH 500
02 TARYH| 5,000 5,000 0
OX2NZ TA 7 10,0002 5002 5,000
WG MEEH TH 47,632 39,129 8,503
groi 2te 11,392 7,429 3,963
101 Q1A 7,720 3,757 3,963
04 JIZHHM22NsSES 7,720 3,757 3,963
OBIED| YAAIY o2 38,6008 *2H*90Y 6,948




SN A
HE: NP0 SEUTLY (YT /ABHE)
Sl WIS MEBHA E4 (Sl &2)
_ _ HE T
SM-EH . C(BH) - HRAY - B2 Ao 0Ol At o8 bRz
O4U2E JI2RE3 6,948,000 *11.1% 772
206 M=l 3,672 3,672 0
01 M=H| 3,672 3,672 0
OYAAY RIU(HLR) 1,700&%24 £ 90 3,672
MEEHE 36,240 31,700 4,540
101 Q14| 36,240 30,200 6,040
04 JIAHIEZHE LS4 36,240 30,200 6,040
OBEFY| (YR HE) 30,200
-0 200,000 20K 73 28,000
-28 & R4 110,000& 20 2,200
OZZsZa BBFYI (oA BE) 6,040
-o12 200,000 »4H+7& 5,600
-2H2Y 20yl 110,000 *4% 440
KNAMNLAML(SEL X GML /RS L A 130,720 130,720 0
Fo=JA AN 130,720 130,720 0
TH & A HI 50,000 50,000 0
401 Al&HI L= HYI 50,000 50,000 0
01 Al&H| 50,000 50,000 0
OARD FUMEHOAAY 50,000,008 14 50,000
A2 XS ALE 0 80,720 80,720 0
401 A EHIL 204 80,720 80,720 0
01 A& 80,000 80,000 0
O=ers e ¢ B 20,000,000 * 14! 20,000
Ozl #ASS 5288
20,000, 0002 *14! 20,000
Ooete e sz2&2& 20,000,000 * 14! 20,000
OS2l MY 2T
20,000,000& * 14! 20,000
03 Al&Z=R0HHl 720 720 0
OARDNAANSIHL AR A& 2 CHH]
80,000, 00021 0.90/ 100 720
HY2AZHI(AMZH)(JIEHDIIEH 197,041 188,316 8,725
A2ZH[ (A ZH) 20,591 20,214 377
MolE 2| 20,591 20,214 377
101 Q14| 20,591 20,214 377
03 RIAHAZZNE = 20,591 20,214 377
OLipI=NE 2 BeloRy 20,591
-Jl2g 29,010 »1H+313 9,081
-&03 9,081,000% 12 *1/12%300% 2,271
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SN AR
M HY2IZHI(AZS)(JIEH/IIE)
Chel: elERHHI (&) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
-EE SO 9,081,000 x 1 *1/12%120% 909
- EE & 30,000 x1H*12& 360
-tE+E 100,000& 1E 123 1,200
BN, 29,0103« 12 »24 697
=5+E 29,0103« 12 »52& 1,509
-A2RI2R+E 5,440 1B 22A 2tx 123 1,437
- A S A 80,000 x1H*12& 960
-2 H0Hts 29,0103 x99 128 x50% 1,567
—IJtAHI2 28I 50,0003 «1& 128 600
Jl2ZHI(a&) 176,450 168,102 8,348
fA2EH 112,710 99,342 13,368
201 LEt=gH| 112,710 99,342 13,368
01 AtR2teld] 26,690 26,490 200
O1.¢e=2H| 12,800
-REA2E Lit=EZH 12,600, 000& 12,600
“MOjetM e s+ 2 100,000& 23! 200
O3.2g8+¢ 8,850
-2 =& 50,0002 «(116+61) L 8,850
O5. =&t 3,040
-FAE2E =gt 3,040,000& 3,040
O6.2x2 2,000
-HEEYE FHl Xz 2,000,000& 2,000
02 3323l 86,020 72,852 13,168
O1.332=ZHMA 70,171
-Mll= 5,415,000 5,415
=5z 840,000& 840
-EoER=3 4925+9,000& 123 53,136
“MEHASEAE 8JI8 60,0003 «65+1228 4,320
-dplzsE® &Il 150,000& =12 1,800
-dpzsdE!® =2 30,000& 122 360
-IPVEEXSY MER 25,000 =123 300
-SHNERE2 300
2= 100,000& 23! 200
N 50, 000& *23] 100
=AEE fEZE 3,000,000& 3,000
ARSI = 700
"SE(AE) 700,000 = 1CH 700
O2.¢ 2l 5,872,000& 5,872
O3. Al 2 #HI= X 6,736
-2eS =Xl 5,000& 4925 2,460
-d= %=Xt 2,476,000 2,476
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2N BES
M S SHUNSY(LYUTIUT/ABHT)
CHol: F0IEHE HHED (ol &2
_ _ HE T
SN -EHH . (B) - MPAY - BE2 O &t 04 Sl ko HRE2
e EEREENELER
100, 00024 *507H 5,000
OZTSO=TEZ 5194 Lol 2 900
-2 600, 0003 * 14 600
—-Ab3! CH 300,000& *1H 300
02 EM7H 5,000 5,000 0
ONSTAHB TAPYUL 10,0002 %5002 5,000
WA MESHH X4 70,111 57,936 12,175
22t 21,791 12,636 9,155
101 Q14| 12,866 6,261 6,605
04 JIAH2R RSB 12,866 6,261 6,605
Oot&ED| &IAY FA 38,6003 4H+75& 11,580
O4U2E JI2RE3 11,580,000 *11. 1% 1,286
206 M=l 8,925 6,375 2,550
01 M=l 8,925 6,375 2,550
OOl SFU(HLR) 1,7002%70 £ +752 8,925
MESt A | 48,320 45,300 3,020
101 Q1 Z4H| 48,320 45,300 3,020
04 JIZHMIZE2XESE = 48,320 45,300 3,020
Os=H 2 SHZDSTH(LAUT2l BB
) 48,320
-oI2 200,000& »32H 72 44,800
-28 & 20 110,000& «32H 3,520
Z=s NYMNEML (S ELXGMNL/XNSL A 79,000 69,000 10,000
KNS =0l=2 ALY 79,000 69,000 10,000
T2 AFS I 40,000 40,000 0
401 Al&HIZL=ROHYI 40,000 40,000 0
01 AlEHI 40,000 40,000 0
OARSD ZQIMBBOIAR  40,000,0002 *14! 40,000
22X S AR N 39,000 29,000 10,000
401 Al EHIL 201 39,000 29,000 10,000
01 A&t 39,000 29,000 10,000
OORIOIBRLY A2 RX 22 (9H4)
1,000, 000& *9H 2= 9,000
O=os dd & E 30,000,000& =14 30,000
HE 2RI ZU(Z=S)(JIEH/IIE 123,790 104,856 18,934
l2ZH(5&s) 123,790 104,856 18,934
F N2 41,270 37,236 4,034
201 LEHRHH| 41,270 37,236 4,034
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01 AtS22iHl 16,250 16,250
O1. gegt=2H| 11,350
-RA2Y L2 11,350, 000& 11,350
OLN=1=1:] 3,400
-2FA2E =g 3,400,000& 3,400
O6. g X2 1,500
-HERY U gXE 1,500,000& 1,500
02 3323l 25,020 20,986
O1.Z2RSLHA 14,750
= 6,000, 000& 6,000
=== 750,000& 750
-NHEHAS =S 700,000& = 1CH 700
—2HNERES 300,000& =23 600
-SNES RES 6,400,000 6,400
-IPIVE EESY AIEZ 25,000 123 300
O2. 492 H| 3,856,000& 3,856
O3. A€ #HI = X 3,076
-A=R Al 4, 2223 «444 .25m° 1,876
= =a= W YN | 100,000& =12 1,200
O4. Xt et| 3,338,000 = 1CH 3,338
S0 53,040 53,040
202 O4dl 53,040 53,040
02 M 53,040 53,040
O HAH 260,000&x17Z «12& 53,040
Sl 11,480 11,480
203 ¥R =&l 11,480 11,480
01 JI&2ZHRF4l 6,600 6,600
OJI 223 L=48| 6,600, 000& 6,600
02 HIIMERFAHI 680 680
OF I H =] 40,000& <17 680
04 BEANSSHRFLHI 4,200 4,200
ORMN2ILRETHI(HA:17Y)
350,000& 128 4,200
et 2 =SS FHSHI 18,000 3,100
405 XtotE SHI 18,000 3,100
01 MHARESFSH 18,000 3,100
Ost2xH(Ag) Fl 17,000,000& *1CH 17,000
ORI 2| 250,000& 44 1,000
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2N BES
HY: 22 SHAFSH(LUITHH/LUHEY)
CHel: FQISE HFCD (ol ® 2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K dd = Hlns2t
Ol A OH
01 AFR22/Hl 3,756 2,256 1,500
O1.get424| 3,756
-2X3 2 LBt 1,200
~HOZRE 2H|(QIE YT RLA})
1,500,000 1,500
-RoIHY 89442 88,000 x12& 1,056
02 =324l 10,850 10,970 A 120
O1.22=22MAl 6,240
Raplier= 250,000 x 128 3,000
~MECAIRE 40,0002 x 128 480
-OIHYESI N ¥B018 3lHd=
230,000 x13| & x 128 2,760
O2.o4 24l 2,000,000 2,000
O3. A& ZHHI R XYl 2,610
-AS Sl 1,110,000 1,110
—HLHE) | R X 1,500,000 1,500
S MEEAE T 65,079 51,122 13,957
goi 2t 10,258 10,086 172
101 Q124 6,433 6,261 172
04 JIZtHM22SES 6,433 6,261 172
OBIED| YAALY eIl 38,6002 *x2H*752 5,790
O4U s a8z 5,790,000 *11.1% 643
206 X2l 3,825 3,825 0
01 MYl 3,825 3,825 0
OYAMNY RFU(ILR) 1,700&%30 4 *75 3,825
MSHE A F Y] 54,821 41,036 13,785
101 Q1A 53,201 39,356 13,845
04 JIZtHMZ22XSE4 53,201 39,356 13,845
OSa2 oz 2R 352002 *1H*120 4,235
OS2 Zaae 02Y
35,2902« 1% «120 4,235
o4 Jare2 8,470,000& *11. 1% 941
OMDISESIIHs & SH-HAHS (L0
Uxte HE) 43,790
-ore 200,000 *29% x7& 40,600
-28 2 20l 110,000 x29H 3,190
201 ety 1,620 1,680 AB0
01 AFR22/Hl 1,620 1,680 AB0
O1. g2 1,620
-HMS3Y SEA L BAANES >4 1,620
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ZH NN (UNDTHY /L)
el e MBEY T4 (e @)

22
J2

=1
R
121

HAZE U Z2HEE S 7

120,000 * 122 1,440

SR &HAH| 60,000 *33] 180
25 NY9NLMA(ZELX AN /XSLZA) 61,000 74,000 A 13,000
A== 61,000 74,000 A 13,000
TH2E ALY 40,000 40,000 0
401 Al&HIZ 0 40,000 40,000 0
01 Al&H] 40,000 40,000 0

OARD FOIMEH ALY 40,000,000 40,000
A2 S AS Y 21,000 34,000 A 13,000
401 Al&HI LS 21,000 34,000 A 13,000
01 Al&H] 21,000 34,000 213,000

O020IZBU AMES SA22(1HA)

1,000,000 x4l 1,000

ORoE ¢l U 2 20,000,000 * 14! 20,000
HNMSAAH| (2EES)(J|EHIIE 132,179 138,858 AB,679
H2YH|(RES) 18, 163 18,163 0
BAQIHE2AY| 18, 163 18, 163 0
101 Q14| 18, 163 18, 163 0
03 RIHAZZ2XE S 18,163 18,163 0

o=2x3sz el 18,163

23 29,0102 x 12313 9,081

-A01 2 9,081,0002 12 x1/12%300% 2,271

-S| 9,081,000 x 12 *1/12%120% 909

~-DEY XY 30,0002 x1H *12& 360

“hELY 50,0002 «1H x12& 600

—AXSG 29,0102 x1H x15 436

-5 29,0102 x 1 %52 1,509

A2 2R 5,440 x1H#22A| 2H+ 128 1,437

-H o ZAlH| 80,000 x 1 x 128 960

“JHHI B X 50,0002 *1H x12& 600
I2dHl(E8&Ss) 114,016 120,695 AB,679
229 40,776 42,335 A1,559
201 LEr2YH| 40,776 42,335 A1,559
01 AFR22t2lH] 15,800 15,800 0

O1.Yptx=2H 11,100

—BEA2Y Lot 11,100,000 11,100

O5. 2 2] 3,200

-2EA2Y S| 3,200,000 3,200
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SN BES
HH: HH2AAH(EES)(JIEH/IIE)
ol JI2BH(BES) (Erol: @2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
06.dxt =z 1,500
-HER2YE Y 2x=z 1,500,000& 1,500
02 =234l 24,976 26,535 A 1,559
O1.35224 A 13,667
RapIi= 500,000+ 12& 6,000
== 50,000& x12& 600
- RE 3 50,000& *23l 100
—ENAES REE 5,867,000& 5,867
SIPVEZESY AIZZE 25,0003 123 300
“NEHMASNZ ¥ BEZ(LESES) 800
MAlS 2= 700, 0003 *1CH 700
SAMNERE = 50,000& *22l 100
Oz. Az H| 4,969,000& 4,969
O3. A& ZHI= Xt 3,002
k=2 N 1,802,000& 1,802
“HHErD 1,200,000& 1,200
O4.Xtetee 3,338
-t (A8 3,338,000 = 1CH 3,338
HEFANLI 46,800 49,920 23,120
202 O4dl 46,800 49,920 23,120
02 EHHYI 46,800 49,920 A3,120
OF-E.10 1] 260,000 *15F 123 46,800
G E =&l 11,440 11,440 0
203 HRF&H| 11,440 11,440 0
01 JI22IHRF8H| 6,600 6,600 0
OJI22IHRF&| 6,600, 000& 6,600
02 HRI&HSF=EIH| 640 640 0
O&EJIAH R =AH| 40,0003 x16% 640
04 RA2YLRETY| 4,200 4,200 0
SEVEEEESIMICEREED
350,000& «12& 4,200
ek 2 2EFFH S| 15,000 17,000 A 2,000
405 XH&HFE SHI 15,000 17,000 A 2,000
01 T =S HSHI 15,000 17,000 A2,000
Od2El(150ay) 2,500,000 *3CH 7,500
OdR2EI(253194) 2,500, 000% «3CH 7,500
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SN RHS
H: QNS SHUTLY(YNITHT/ABHE)
ol e MBEY T4 (9l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 il b o B2
206 2| 3,825 3,825 0
01 T2l 3,825 3,825 0
OYAANY REU(HLR) 1,70021%30 £ +752 3,825
M EAEY 34,730 30,200 4,530
101 o124t 34,730 30,200 4,530
VIEEBTEES TR 34,730 30,200 4,530
OJzsAIYI(-olARel &E) 34,730
ol 200,0002 x23% +72) 32,200
~28 2 2HAY) 110,000 %2324 2,530
SHE NAMLAL(RELTANL/TAL T A 82,000 72,000 10,000
RSP 82,000 72,000 10,000
WEINET 40,000 40,000 0
401 AlZHIL 2O 40,000 40,000 0
01 Al&H] 40,000 40,000 0
OATID ZQIMEBHOIA 40,000,000 14! 40,000
AR XIS ARSI 42,000 32,000 10,000
401 Al&HIL 20| 42,000 32,000 10,000
01 Al&H] 42,000 32,000 10,000
OORO0IBRAL AME sX2
1,000, 0002 1274 12,000
OHS A4 o B4 30,000, 0002 *14! 30,000
HH2 ALY (LES)(OIEHIIE) 109,291 97,893 11,398
IRFH(2ES) 109,291 97,893 1,398
2Nl 37,411 33,393 4,018
201 LByl 37,411 33,393 4,018
01 Attt 15,350 15,350 0
O1. go+8H| 10,850
R A2Y At gY| 10,850,0002 10,850
O5. 22| 3,000
-2A2Y 2 3,000,00024 3,000
O6.2%2 1,500
Mo &y UME 1,500,00024 1,500
02 BZ2Y| 22,061 18,043 4,018
O1.B3ZRILHAl 14,600
A= 550,000 * 122 6,600
N3 65,0002 122 780
—HAWHRYS 220
A2 60,0002 x23] 120
"X (se) 50,0002 23] 100
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SH: 2EE
HH: HAH2AAH(LES)(JIEH/IIE)
el JI= YL (PES) (Erol: @2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
-=NESE REZ 500,000& = 12& 6,000
-IPVEZEESY AEE 25,0003 128 300
“XEMAZSUS 700
St (428) 700,000 *1CH 700
O2. 49zl 932
-H=z 120 *8Al 2bx10H*970& 932
O3. A& EHIKR Xl 3,191
-A=S Xl 2,086& *666.5m" 1,391
-HHE I KR 600, 000& *3CH 1,800
O4. Xt & e 3,338
-St2(4d) 3,338,000& 3,338
HEFEN 43,680 46,800 A3,120
202 O4Hl 43,680 46,800 A3,120
02 XY 43,680 46,800 23,120
O HHHI 260,000& «14H 123 43,680
HRFAHI 10,200 10,200 0
203 HRF&Hl 10,200 10,200 0
01 JI22IHRF4| 6,600 6,600 0
OJI22IHRF48| 6,600,000& 6,600
02 FRAAINMAHRFAHI 600 600 0
OZFJAINAHRFAH| 40,0002 15 600
04 BEASIZFF=EHI 3,000 3,000 0
ORN2IH2FXHI (B :15Y)
250,000& «12& 3,000
ek 2 2 FFHSHI 18,000 7,500 10,500
405 KH&HFSHI 18,000 7,500 10,500
01 XYL SSFSHI 18,000 7,500 10,500
Oztsxzg 2 17,000,000 *1CH 17,000
O9x =g 100,000 =104 1,000
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